H & 0l & AHS B Ml A

20243 =0llah LB Ald 2te |t

SA AE2e| B
M #HZRAZHI(AlZ22i)
el J|= | ol @)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
A& 2te| ot 7,229,065 9,470,158 A2,241,093
HH2LZHI(AlL2e|nt) 37,353 45,660 A8,307
JlI=23sl 37,353 45,660 A8,307
JI=23Hl 37,353 45,660 N8,307
201 fer= 3| 17,800 20,475 A2,675
01 At 2|l 17,800 17,800 0
OJlZ2 NRES 30,0002+ 18 540
OYRFa =AU 20,000+52 100
Ox2d 23+l 60,0002~ 12 720
OanZ =4 50,0002 128 600
O 10,0003 x5+ 123 600
Oda)| gxt= 38,000 ~1CH =122 456
OJlz g8 Sl
8,000 x14&*11&* 122 14,784
202 04t 13,753 19,385 Nb,632
01 =LHOHI 13,753 17,345 A3,592
OJIE2s8 =L 12,553,000 12,553
OJ1=228 FUHNHI(BLA)
1,200,000 1,200
203 HR=H] 4,600 4,600
03 A=A R =AH] 1,000 1,000
ONHZEFAREAY| 1,000,002 1,000
0 RA2IYRETY| 3,600 3,600 0
ORNSYYLETY
300,000 x 1042+ 123 3,600
204 MRoeAH| 1,200 1,200
01 MG HP=HAHH| 1,200 1,200
ouns 100,000& <1122 1,200
FOEIAIEZE 2l 1,754,983 1,937,148 A182,165
HRLUIE dE =29 1,661,008 1,820,018 169,010
HRUEIME =Xl2e 1,661,008 1,820,018 /169,010
101 @12A4H| 170,972 0 170,972
MU OIIRNZZ2NSES 170,972 0 170,972
OHRUEIME JIRIMZ22IHE A) 78,611
—QI2A4H| 2,965,500 «2F 122 71,172
—2E= 7,438,700 7,439
OAHSLIEIMEH JIZtHI22XH(3H]) 92,361
— Q2| 3,481,820 2H 122 83,564
—28= 8,796,980& 8,797
201 er=3| 312,7%4 556,141 N243,347
01 AtR2t2lt] 6.270 6.210 60
Oget=ZHI 3,390




2A:

Al&2te| 1t

M FOIHOIALES 2
&2 HRLIE dE 22 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—SZTHIE AT
50,0002 x35+63] 900
—52)| HIRAF 242
140,000 4 CH*12] 560
—= A =2 650,000 22 1,300
—TAIDIA OHEEIIZAL 242
100,000 %13 100
—A=LIEIHH 28 ARES 7Y
530,000 *14] 530
O=gHt| 2,880
HRLIEIHE 28 Sl
8,000 x3E*10&* 122 2,880
2 s5=34l 306,524 549,931 N243,407
ozzg=2 255,712
M= 241,912
s JIEs
8,320 *550KWH* 122 54,912
RS MES 187,000,000 187,000
—aot=ERs 3,300 *300m" * 122 11,880
—ZAJIARS 720
- HEI wBHHE s
60,0002 «12& 720
—Ste= 100,000& ~12& 1,200
OAl2E =X 41,212
—HRLIEIHH =8 0= &Y
7,000,000& 7,000
~HBLIEIME =8 T24 ®E o
6,000,000 6,000
~HAFYD HAR Y
1,500,000 *23] 3,000
—H=LIEIME &Z 3l W) ==
1,509 +33 £ *42] 212
—d= ¥ FHALEES 472 44|
25,000,000 * 14| 25,000
OsJl A2l ES
200,000 «4CH*12& 9,600
202 O4H| 1,200 1,200
01 2L A 1,200 1,200
OHZLIEIHE 22l2d gf=a
100,000 »12& 1,200
206 M=Hl 8,400 26,400 18,000
01 MHZH| 8,400 26,400 18,000
O&Jl, SUAE B8 T
700,000 * 122 8,400
307 el2to| & 59,020 43,000 16,020
05 212t =S 59,020 43,000 16,020




2A:

Al 2| ot

Mz FOIEHOIAEZ 22|
=el: HARLIE dE 29 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OHRLIEIME Agtortdate] 2 Ul &
& 1,150,000« 12& 13,800
OAHRLIEIMH XDIE&I & QNN
o 8,820
—HIIQHE (1, 32D1)
660,000 *23| 1,320
—&DIIQFMZRICH 22D, BH])
2,200,000 13| 2,200
—JI|CHMRICH4ZD], 28HD], HX)
5,300,000& *13] 5,300
OAHRLIEIMH HE HHAE AEEH
1,000,000& 123 12,000
OAHRLIEIMH JIHEH d5 B 89
21,000,000& *13l 21,000
OAHSLIEIMEH EI|otHEH 84
1,700,000 *23| 3,400
401 Al HILS0HY| 918,622 603,277 315,345
01 AlEHI 915,000 599,500 315,500
OHRLIEIHH AMEE SANES 90,000
=D, Htgal] 35,000,000 35,000
—&0|, AgA| 35,000,000& 35,000
- MF 2 SHEFH
20,000,000& 20,000
OHRLIEIME SFAIE2 A 825,000
—(B)=9% Hte &2t2 4XI SA
400,000,000& 400,000
—(B)>g% 3% 30,2 il 24 3
At 70,000,000& 70,000
=JIAH4, IES =F JIHl AN&E2 EH 3
At 300,000,000& 300,000
—S4(95) Z2/2dI0F & SA
55,000,000 55,000
03 AlE 2 CHYI 3,622 3,777 A155
OAIZ 201l 3,622,000& 3,622
402 CIZERH=0I M 180,000 590,000 A410,000
03 Q12+ EFALS I 180,000 590,000 A410,000
OHRLIEIMH AldESat2el EA(AMd2R
Xl&el) 180,000,000& 180,000
T4 MU 29 103,975 117,130 A13,155
T4 MU BXI22 103,975 117,130 A13,155
201 L2 | 25,440 25,824 N384
01 Ar22eltl 12,684 13,068 N34
oMLl =222 2¥ 235 7Y 1,308
-2 F¢ 50,000 *12& 600
—MYDISE 2502 )
1,300&*30& * 123 468




2A:

Al 2| ot

M FREHGAIEE 22l
el S Yl =29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—3¥A FY 20,0002~ 12 240
Ol =t 225 2 2,820
E 3EA 42,0003 x202f A 840
—HIOIH HEEHS 40,0003 #3082} A 1,200
—MeIISF(50¢2) 1,3002 x50& 12 780
OdYUl EE22 AIRES 78
396,000 3%
OXYU E22 F==0| 2l
20,0003 =20+ 122 480
OXY =t&4 i 22yl
40,000 * 122 480
OTBNHYM Y £
60,0003 120! 7,200
02 S3=gHl 12,756 12,756 0
OSSN YN S523 12,756
—&lIes 863,000 * 122 10,3%
—Ste= 200,000 122 2,400
202 04l 1,200 1,200
NETEE 1,200 1,200
OHYY Bol2Y AREZ
100,000& * 122 1,200
206 M=l 4,110 4,110
01 M= HI 4,110 4,110
O MCDHE & HEZE MM 2L 2,310
—&C O K| 1,135,000& 1,135
—&dZ MAA 1,2503+300= Xl 375
— &t 400,000 x22| 800
OJIA - &0 E+& NHH7L
150,000« 12& 1,800
307 glztol & 27,820 29,808 1,988
05 2ItRIE =2 27,820 29,808 1,988
oYL LoIZY S
100,000& ~ 12 1,200
OdYl 2=FatAd &e| EH
385,000+ 122 4,620
odgH 4 89 22,000,000 22,000
401 Al HIZL S 0HYI 45,405 56,188 /10,783
01 Al&HI 45,000 55,000 10,000
O7Se JYU AlE= |2 45,000
-5 R & 33|
15,000,000 15,000
—&HZ O3 25 2 &M
20,000,000& 20,000
—2dE S 2B NS |2
10,000,000& 10,000




SA: Ald2te|
FH: FOEHOALZ 22

el 2SS JEl 29 EER=E)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
03 Al 20HHI 405 1,188 AT83
OAIE20HbI 405,000 405
FOIOHMAIEZE 2el 3,357,470 4,533,306 1,175,836
Q10N g HOlAl4 3,357,470 4,533,306 1,175,836
2s 2ets 72 2,479,216 2,862,845 A\383,629
201 er=3| 1,310,2% 1,439,441 A129,145
01 AtR2t2lt] 7,320 7,320 0
O&I|er& 22Xt 82ldl & wSY|
250,000 250
OJIZ2=20ots 28 S
8,0003 x4 +5& 12 1,920
OE=8 22Z F¥ 5,150
-2 29 & 12,0002 %200H 2,400
—ZgH 0= 2,500 «500H 1,250
—JIEt 224 XM 1,500,000 1,500
2 s=5=34l 1,302,976 1,432,121 A129,145
OJtz - 2¢t - BHEs &JIks 1,036,944
—JE2RstAERS
86,412,002 ~12& 1,036,944
OJt=s s 2A 2 Mo SMes
1,100,000 *1CH* 12 13,200
OUIUXIZS g1t =20l HE 2HIFA &
23 53,567,000& 42| 214,268
Oz s =2+ M ANSAHAl
100,000& %12 100
OoJzs 72 Xt SBNEFE=
160,000 %12 160
OJzs B2 I |RFA|
1,637&*2,800c| &4 4,304
OJtzs =A2E+ g KXY
4,000,000 4,000
OAIZ&Hl sXbl 30,000
—JI2§ ¥ 228 4%
30,000,000 30,000
202 048l 3,360 1,200 2,160
01 SLHo4HI 3,360 1,200 2,160
Oizs & 2ots A2 =8
280,000 * 122 3,360
206 MH=HI 57,000 47,400 9,600
01 =8l 57,000 47,400 9,600
Oz - 2ot - HEsS ¢8I 7 (LeD)
50,0002 1574 * 122 9,000
Otz - 2ot - HES 82 F(LD)
60,0002 x20JH* 122 14,400
Ogets #87| 7Y
160,000 *5IH*122] 9,600




SA A2t
M FoloEAlEE B2l
Sl F0IotE I EOIAlE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJt=8 ggse 820 2L
1,000, 000& *371*32] 9,000
OJt2 - 2ot - HEs =Al&el A=
500,000 62 3,000
OJt2 - 2o LensSI|+ 7
12,000,000 12,000
307 glztol & 5,924 6,168 NP4
05 2IMRIE =3 5,924 6,168 NP4
OZslu &€l etz s
180,600 *110%+ 122 2,384
OFAEE ®Ilal) erEpel (s
162, 4003 *110%+ 122 2,144
OXSHE &J14H| etd2e| HEES
105, 7002 x110%+ 122 1,3%
401 Al HIZ 2018 1,043,636 1,368,636 A325,000
01 Al&H| 1,040,000 1,365,000 A325,000
OAtLl JIZ2S WHMSBAt 50,000,000& 50,000
OINZS SREY| & BETA
50,000,000 50,000
Otz - 225 |AZ2I(HIHH )
250,000, 000! 250,000
OL% JIZS ¥ 2y X
190,000,000 190,000
ONEZ(SE0IS~-=E83H) 2SS X3
At 75,000,000 75,000
OSts 225 ZXSA
300,000,000 300,000
OZEIZ(LF-UEOHIE F2t) 28 4XIS
At 75,000,000& 75,000
Otz 2N 2SS HESA
50,000,000& 50,000
03 Al 20HHI 3,636 3,636 0
OAIZ20HbI 3,636,000& 3,636
405 AHatE = 59,000 59,000
01 ML ESF SHI 59,000 59,000
OJl2s |RAE+ A WA
59,000,000& 59,000
SES =Al2 39,000 160,500 121,500
201 fer= 3| 25,000 0 25,000
02 S3=gHl 25,000 0 25,000
OAIZ&Hl =Xt 25,000
—38S =Al B 2,500,000& 102 25,000
206 M=l 14,000 10,500 3,500
01 MHZH| 14,000 10,500 3,500
O3S 2&I| 2(LED)
50,0002 x107H+62] 3,000




SA A2t
M FRUKEAIEE 2el
Chel: ZDIOHH Y HOjAlA (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEEEEERT)
100,000 x107H+63] 6,000
OZAS Yy LI 7Y
1,000, 0002 1022 2,000
O3S =Al&el 7
1,000,000 #32] 3,000
ANESZ2EX FX2tel 47,000 44,000 3,000
206 M=l 9,000 9,000 0
01 MZH| 9,000 9,000 0
OANESEEX S| 7
2,000, 0003 x27 <22 8,000
OANEEZEX KA &
1,000,0002 %12 1,000
307 212+01& 28,000 25,000 3,000
05 2ItRIE = 28,000 25,000 3,000
OSZUD MEERER 2l 918
5,600,000& 5,600
OENQITIR AHSSRER B2l Ist8d
5,600,000 5,600
Otz AHEZHX 22| AEES
5,600,000 5,600
O==d250 MESEZHI 22| ASE
A 5,600,000& 5,600
OsSaln MEEZE 22| fIEES
5,600,000 5,600
401 Al HIZ S 0HbI 10,000 10,000
01 AlZ8| 10,000 10,000
OAdgtZ BXIS 01838 AAl & ==
10,000,000 10,000
A&EE 2D 2 FA2e 212,104 330,727 118,623
201 er23| 52,766 44,834 7,932
01 At2teltl 1,986 2,554 N\568
OMERIDNEs 2l R S|
8,000& x1& 200 1,600
ONFSTN 24 SRRI| HIIZA 242
50,0002 104 A 50
OMERIDNEs 284 g424)] aX=
28,0002 «1CH~ 123 336
2 s5=34l 50,780 42,280 8,500
O332= % HAl 32,780
—NERANES & BT MIIOI=ER
3) 2,000,000 ~12& 24,000
—NERINES & BT IS (ASR
2) 550,000& 122 6.600
—HESTHES B HEIH ABE
2,000,000& 2,000




A Algz2te|
Hm: FOIOIEAILE 22
Chel: FOIOHA 9 HOAIL EER=E)
. _ S[E]
SA - B C(BH) - MISAY - BAS Ofl Aot 05”55 HR=2
—NERINES 294 AaYs AR
15,000« 12&) 180
OAIEEH|ISXId] 18,000
—/H H2X=4 PLC & UM EH| X2
%= 4,000,000& 4,000
— Al 4C‘IIJH—E— LI2MEE SO|1AE &
X 1,000,000 1,000
—NELRXNES HSID| L ASHNH K
PNI=E 500,000 x2JH A~ 1,000
—ANERZINES =8 M= &
6,000,000 6,000
—NAEL2XINES &2 MHel & SF3EH|
6,000,000 6,000
202 04| 900 900
01 =2WHAHY] 900 900
ONEZ2INESL S2FX
100,000 «9& 900
206 M=H| 21,500 18,750 2,750
01 =8| 21,500 18,750 2,750
ONMALZXIHES SIEHEZ T2 A 2
2l 10,000,000 10,000
ONHERXINES SRS (=5)84 2
=1 2,500,000 2,500
OMERXIMES AR DA S
AN 2 50,0002 x20E#23| 2,000
OKXELEXINE2L SA2EE LD =FE 2
2! 750, 000& =44 3,000
ONEEIINE2LE SA2eE Sds 22
1,000, 000 =304 3,000
OMER2XIMES A2 A2 2
1,000,000& 1,000
307 2I2t0| & 6,218 5,918 300
05 QIZtREZ 6,218 5,918 300
ONMALZXIMES 201H3H| E=A
100,000& «12& 1,200
ONERXES &It 2| e 24
18, 100~ 12& 5,018
401 AlEHIZL L 0HH] 130,720 260,325 A 129,605
01 Al&H| 130,000 259,000 A 129,000
OANELIIMES AIE2 SXNES(C-SHH2
JHANNEE ) 20,000,000 20,000
ONMALZRIMES RS2H & =& U8
SANE4 20,000,000 20,000
ONMIERNIMES 2SS B0 == O
3 SXNES 10,000,000 10,000
OS24 Y2 8sI|0] 8X 2AH
30,000,000& 30,000




IOHR AL S 22

[wid

o
[l

A Ald2e|
X0

X ZH -

o™

od
i’
o
uJ

I0HA & EHOIAlA

s
=
s

=aak

-

KIO

Hlw

560

605

A\436,000
18,160

17,600

HMEE
Ofl &k2h

1,325
122,092
78,176

803,122

43,916

Ofl &F2H

50,000
720

720
367,122
140,252
78,736
1,600
76,000
800

336
61,516
40,516

- SRA(3) - HIRAEY

- BAS

SN - B3

720,000
800,000

At

prnl

76,000,000&

BHE &l EOIZ A

H SA240 HOAIAE(PLC) mA
50,000, 0002

M
03 A2 0HHI
OAlIE=20Hbl
01 Attt
i

O

[0
M0

46,400
46,400

900
900
20,600
20,600

26,400
12,000
2,000
116
21,000
6,000
3,000
6,000
3,000
3,000
900
900
900
67,000
67,000
2,000
5,400

,000&

=
ol

2,000,000
—_4 — 7<'>|'
1,920& +60L
3,000,000
6,000,000

[& At

100,000 *92

2,200,000&*12&
=l
E|£o?_ HE
28 |X
cIE LD =3
900, 000 +6H

I,

oo
2]
s}

II

+

i)

HMIRIB0IER2)

PLC

4 QEY HE

=

o
g2 2A
=24 FX

o
ot

OAlZ EHIs Xl
01 =LHOIH]
01 Mz bl

202 044l
206 =4I




SA A2t
Hm: ZDIOEAILE 22
chel Faord 2 EojAlE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OltsREX sS4+ 7A2Acs SEE
- 1,200,000 *8H 9,600
Olls=3X S22+ AFHEE WA
2 7Y 50,000,000 50,000
307 212+01& 7,530 7,530
05 2IR”tRIE = 7,530 7,530
OSSR SdEs RH /S
100,000& «12& 1,200
OltsREX s%Es dojetd2] (S
S 527,500 12 6,330
401 AlZHIZ S OHYI 151,440 652,000 500,560
01 A28l 150,000 652,000 A502,000
OltsREX 8A2+ AEE RXEx (-
£, 22 8) 20,000,000 20,000
Olts7EX SdEs #S2H RAE=>
15,000,000 15,000
Olts7EA sHEs sHEs RAEs
15,000,000 15,000
Olls=a3X S424 AE 22 SAt
100,000,000 100,000
03 Al 20HHI 1,440 0 1,440
OAIZ20HHI 200,000,000 *0.72% 1,440
A XEAIE =Xl2c 213,028 306,112 A93,084
201 Ler=23| 104,800 69,000 35,800
2 s5=34l 104,800 69,000 35,800
O332= € HAl 64,800
—2XHGel HII2=
800,000& * 122 9,600
—oiE=n L2
600,000& * 122 7,200
—Nd HE oEZ HIes
120,000& * 122 1,440
—NEEE 8= dIes
900,000 x 12«20 & 21,600
—CIAIE Al & HEHR &IIe3
500,000& 122 6,000
—SCIEI2(JFLEDIIIT) MRS
200,000 * 123 «20H 2= 4,800
—Sadid =V ANEZ, MdEu &)
2= 1,000,000& ~12& 12,000
—2XHGE Y A ASE
100,000& «12& 1,200
—NEEsu,H2EFW AHY HSH
NEZ 80,0002 123 960
OAI2EbBI= X 40,000
—ANE8E XS (2L, UY)FANES
4,000,000 *20H 2= 8,000




SA A2t
M FRUKEAIEE 2el
chel Faord 2 EojAlE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—ANEEE ZES(ZL.02)FH oz &
& 4,000,000 *20H 2= 8,000
—oHEFW BAXEANE RN+
4,000,000& 4,000
—HEY ZAXGAE RAES
4,000,000 4,000
—gal2l FVNEACZ ZRZHAIL(LED
THE 2B |XES
4,000,000& 4,000
—NEESN JAXBAL(LED+SS, 2ol
BHRXI2= 4,000,000 4,000
—NERR0EZ 2T ANE RAUE+
4,000,000& 4,000
—=1J] HIOtHel 2AXEANE |FANE+
4,000,000& 4,000
206 M=l 5,200 6,000 2800
01 M=4l 5,200 6,000 A800
OZ2AXEE &4FI| 2(LED)
100,000 *10H 1,000
OZ2xHE &I F(LED)
150,000 +8H 1,200
OZ2xgE 2 H2)| 7Y
1,000,000 *1H 1,000
Ogd2xg FA&ACIE 22E 7
2,000,000& 2,000
307 212+01& 960 960
05 2ItRIE = 960 960
ORIl feldHl !SS9
80,000& * 122 960
401 Al HIZ 2018 100,468 230,152 129,684
01 Al&H| 100,000 229,000 129,000
O=HNENEZ B2EE WHSA
100,000,000 100,000
03 AlE S THYI 468 1,152 A684
OAIZ 20HHI 52,000,000 0. %% 468
405 AHAHE S 1,600 1,600
01 AL =S F=H 1,600 1,600
Ogd2xd ANEE |RAIEZ=8 =) 7
800,000 *1H 800
Od2xg ANEE |RAE=E 8| 7
800,000 17K 800
Ko & THEH Ol 2,079,259 2,954,044 A874,785
MHoll?IE A= 2t 2,079,259 2,954,044 A874,785
BB ZE RX2c 2,079,259 2,954,044 A874,785
101 @124H| 41,797 40,801 9%
MU ORINZENSES 41,797 40,801 9%
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SA: Ald2te|
XH

o™

K ZH -

of
i’
oF
uJ

c

-

8 AMeEE &

XHoH <

Sk

-

KIO

Hlw

3,393
1,580

1,813

HMEE
Ofl &k2h

493,797
14,438

479,359

Ofl &F2H

41,797
40,324

404

1,069

497,190

16,018
2,016

250
2,500
5,200

1,200
4,000
2,072
52
210

1,600

150

400

481,172

3,980
3,100

100,000
2,656
576

400,000
400,000
300,000

- SHRABA) - HRAY - BES

SRR

87,2803« 162 +7

160

40,323,000 * 1%
40,323,000 %2.65%

01 AtR2telbl

8,000 x3&»72L« 123

0
no

250,000
2,500,000&

b

dcl &l

R0
il
~J
ol
=]

iy

=]

8,000 200K
3,450 15%

600,000 *2JH 2~
200,000& 20K

(PPOLCH)

70,000& +3H

ulo

5,000 *30H

3,000 *20K

<
Ol

3,100,000
100,000 #40H A

223 2)

9]

X
(=}

0IAE EHI|AAK

-2

—2AHI0I FII1ZAH(

30
0B
[0
[0

SN E=3=d

PN
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Bl
&0
<+

100,000,000&
300,000,000
12,0003 «4 2+ 123

1,537+ 18| B8 2+ 123

2&I| A=H

I At
—o

Bl

IE
[=]

Obfi==

Kl
RO

2
592

2,368
1,776

24,300

592,000

1,5372+1, 1552 &

66,0002« 122
,025,0002 « 122

10,0003 «4H A+ 128

Nalla]]

At

OAl
—X




2A:

Al 2| ot

S Mol & T ol
oelr THOH RIS Ald=E 2l (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAEZEIS T 50,000
—HSEIE FOIA AHHEAY S8R
Bl 10,000,000 10,000
—i=B82F AE NHE8 &=
10,000,000 10,000
—Hi=ELE 25 82 S~HRAIY
10,000,000& 10,000
—HSEIE AT SLRY|
10,000,000 10,000
—i-BEE M5 AFUO0IEH =878
10,000,000 10,000
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
Oti=82d A4S SAl2c| =LY
100,000& * 12 1,200
206 MH=H| 10,150 10,150
01 M=4l 10,150 10,150
Otf=god 24+ NHH7L 4,750
—JIH - HIINEE FHIE T 7L
250,000& *199H 2 4,750
Obi=EZZ(60HA) HlAZAED| SEX 2L 5,400
— 28I FHX 2007 300,000& *18H 5,400
307 @20l & 416,484 375,8% 40,588
05 212+ =S 416,484 375,8% 40,588
Otf=8od Mijetdact 88 &2l
] 336,484
—SEE=F 5,665,920& «12& 67,992
~NEHEER BT
5,665,920 x 123 67,992
—SEZE 6,019,750« 123 72,237
—CEEEE 5,665,920« 128 67,992
—daEY 317,260& 122 3,808
— &30 317,260 122 3,808
—daye? 311,8108x 122 3,742
—dd=012 311,810&* 128 3,742
—EHelEd 218,520& 128 2,623
—EHI LY 1,110,410&x12& 13,325
—EeI=) 771,0108 %122 9,253
—dESS 375,340+ 122 4,505
—ESH 317,260& 128 3,808
—ZHot& (M) 147, 7402~ 12E 1,773
—S0HME) 170,000& ~ 12& 2,040
—ZA(NY) 147, 7403 x 122 1,773
—Oad 505,900 * 128 6,071
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S THOH 2 TH:H Ol
o2l THoll?IE Ald= 22 (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Otf=8Z& otME 249 80,000
—H2Z ANES(FLEE AMIIA)FI|oHHE
B =22 (18/81])
15,000,000 23] 30,000
—H2E AMAE2(S0t2 70HA) HLUNMEH
z9 50,000,000& 50,000
401 AIEHIZL 200 1,042,938 2,032,200 A989,262
01 AlEHI 1,035,000 2,025,000 A990,000
O AS012 B ZE MAD| XIS A
400,000,000 400,000
ONMESHHEEZ HiBZX HEEXEX| 4
Xl 100,000,000& 100,000
Otiz=ZZa =5 MIIANEE DAH(EY, 2
0l) 125,000,000& 125,000
Otfx=EZa 5 HI 25l - Hd| 2AH2
ol, 8%, =25, &U)) 170,000,000& 170,000
OTHoliolgs fe tHi+dEd HEN 2
2el SXE2=(19I04) 240,000
—NUEH ¥ +SEHE RIES
30,000,000 30,000
—&J1a MC HE |2
30,000,000& 30,000
—8& MOoE 2 PG HOoEt X2
30,000,000& 30,000
—HI&D| AlE N2
30,000,000 30,000
—(CCTIV A8 RXIE=> 20,000,000& 20,000
—50ots N2 SRANES
15,000,000%J 15,000
—23ZANN T2 RIE
30,000,0009; 30,000
—gae M2l @ #EEY
15,000,000 15,000
— 82 2REZH
20,000,000& 20,000
—Hi=EEH CHHAIEEH
20,000,000& 20,000
03 Al 0HYI 7,938 7,200 738
Oti=E=a X2l AIZ20i|
2,205,000,000& +0.36% 7,938
405 XHeHE S| 69,500 69,500
01 AL =ZFSHI 69,500 69,500
Otl=8Z% KA 22 & Wil
69,500,000& 69,500




